Economics: The Basics, 2e

Study Guide: Chapter 10

Learning Objectives

LO10-1 Compare and contrast potential GDP and real GDP.

LO10-2 Define the unemployment rate and distinguish between the different types of unemployment.

LO10-3 Explain the tradeoff between unemployment and inflation.

LO10-4 Define recession and discuss the impact of recessions on workers and businesses.

LO10-5 List the possible causes of recession.

Outline

· Potential vs. Actual GDP
· Potential GDP is the output of the economy, assuming no strains on production or unused resources. It is also the maximum amount of economic output an economy can sustain at any moment without inducing an increase in the inflation rate.

· Potential Growth Rate = long-term labor force growth rate + long-term productivity growth rate.
· The Output Gap is the difference between actual and potential GDP.
· Unemployment:
· The unemployment rate is the percentage of the labor force that is unemployed.

· This only counts people who are out of work but are actively looking for a job; this does not count jobless people who are NOT looking for a job.

· Frictional unemployment is comprised of people who are between the end of one job and the beginning of another job. 

· Structural unemployment occurs when the skills of the unemployed do not match what employers need.
· Cyclical unemployment is when unemployment increases and decreases in cycles.
· Sticky wages may help explain why unemployment occurs. 
· Instead of lowering wages according to market changes, some wages cannot be lowered because workers will not accept a decrease in wage or because of contracts set by unions. 
· The Trade-off Between Unemployment and Inflation
· Inflation and Potential GDP
· If GDP > Potential GDP, you get increasing inflation.

· If GDP < Potential GDP, you get increasing unemployment.
· NAIRU (Non-Accelerating Inflation Rate of Unemployment)

· Inflation rises if the unemployment rate < NAIRU, and inflation falls if unemployment > NAIRU.
· Recession is a significant decline in economic activity, spread across the economy, lasting more than a few months.
· Both unemployed workers and businesses are harmed by recessions.
· Possible causes of recessions: 

· Problems in the financial markets
· Negative supply shifts (i.e. a big increase in oil prices)

· Negative demand shifts (i.e. a sudden large decline in demand)

· Anti-inflation policies
Common Myths & Common Problems

· Doesn’t unemployment count all non-working people in society?

· No, it only counts those individuals who are part of the labor force and do not possess a job. Being part of the labor force entails having a job or actively searching for a job. A college graduate who is content to live off their parents for half a year is not unemployed; because they are not actively looking for a job, they are not part of the labor force.
· Isn’t unemployment caused by big business trying to hurt the worker to increase profit?

· Many things cause unemployment, but the “us vs. them” argument is not one of them. Sometimes unemployment occurs because the beginning of a new job does not perfectly line up with the separation from an old job (frictional unemployment). Other times, workers’ skills are either obsolete or no longer useful to the employer (structural unemployment). And still other times, the jobs people once held were merely seasonal in nature (cyclical unemployment); for example, the demand for mall Santas vanishes on December 26th.
· Aren’t recessions caused by government policies?
· Sometimes recessions can be caused by government policies; for example, if the government is attempting to reduce inflation. However, recessions can be caused by things outside the government’s control. A massive increase in oil prices would cause a supply shift leading to a recession. A large national emergency may cause a demand shift and lead to a recession as well.

Real World Applications from an Economist’s Perspective

Outsourcing jobs affects communities nationwide, albeit to different extremes. The small town near the university where I teach has been decimated by outsourcing. It was once known as the denim capital of the world, and today it is a modern rust town. The jobs in the mills have been outsourced because laborers in other countries can do the same job more cheaply, which in turn means we pay less for textiles.

The unemployment in the town is structural unemployment. The unemployed workers possess skills that employers no longer consider valuable. The question is whether there is anything to do about it.

Some argue that we should not outsource jobs in the future. However, that does not address the core problem; eventually skills become obsolete. The real solution is to minimize the effect of structural unemployment. This can be done by retooling workers for the needs of employers. This can be done either publicly or privately. By retooling the displaced workers, we can insure that unemployed members of the labor force have the skills employers are looking for. This will help mitigate some of the harm of structural unemployment. 

Now it’s Your Turn
1.  Assume the labor force is growing at 3% a year, and productivity per worker is rising at 2% per year. What is the potential GDP?
2.  The Great Recession was precipitated by the sub-prime mortgage crisis and an increase in foreclosures. Which cause of recessions best fits as the cause for this recession? Explain.

Practice Quiz

1. Underemployment occurs:

a. When people are not currently employed.

b. When people take jobs below their skill level while looking for a better job.

c. When people take jobs below their skill level, but refuse to look for a better job.

d. When an economy has less than full employment.

2. The unemployment rate:

a. Includes those out of the labor force who do not have jobs.

b. Includes the underemployed.

c. Does not include the percent of the labor force that does not have jobs.

d. Does not include the underemployed.

Use the following graph to answer questions 3 and 4.
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3. Which area represents a positive output gap?

a. A

b. B

c. C

d. D

4. Which area represents a negative output gap?

a. A

b. B

c. C

d. D

Use the following graph to answer questions 5-7.
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5. Identify which area represents expansion.

a. B

b. C

c. D

d. E

6. Identify which area represents the business cycle.

a. B

b. C

c. D

d. E

7. Identify which area is the trough.

a. A

b. B

c. C

d. D

8. Department store gift wrappers probably experience which type of unemployment?

a. Frictional unemployment

b. Structural unemployment

c. Cyclical unemployment

d. Natural unemployment

9. If all the oil-producing countries stopped trading oil to the U.S., what would be the likely cause of the ensuing recession?

a. A negative demand shift

b. A positive demand shift

c. A negative supply shift

d. Financial market problems

10. If the Fed Chairman, Ben Bernanke, decided to seriously combat inflation, what might happen?

a. Unemployment will increase

b. Unemployment will decrease

c. Inflation will fall, but unemployment will be unaffected

d. Nothing
Answer Key

1. B

2. D

3. A

4. D

5. D

6. B

7. A

8. C

9. C

10. A

